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1 (@ Show that :
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() Show that :
f@=1z1>=x%+y%

has a derivative at the origin. _ ’
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Determine the inverse Laplace transform of

Let G be a groui) of all 2 X 2 non-singular matri-ces._

with the ‘-Are'al. entries. Determine the centre of G.
From ‘partial» differential equation by eliminating
the arbitrary function ¢ from the equation :

lx+my+nz=¢(x2+yi+22).
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2. @) N On v‘.r};ich curve the functic;.nal :
0

) n/2 X
: _[ (¥'2— 2 + 2xy)dy

with y(0) = 0 and y(n/2) = 0, be extremized ?
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b : Evalﬁéte the i.ntegra_lvz'
fCJ;-d?, where Cv :‘z' = z(t) = eit,_ 0 <t < -27[-
() Fra o B fom, i
f:lé (¥'2= ¥ + 2x3)dy

TR uﬁaﬂh ¥(0) = O AT y(n/2) = 0 = HY

e ¥

(1) wHTEEd [ VJzdz SET C : oz.= 2(t) = eit

0 < t < 2n W1 HSAHA HIFSTQI

@ Show that eonverse of Lagrange’s theorem holds in

finite cyclic group.

(2)] Gie an ekample of two subgroups H and K which

-

are not normal, but HK as a subgroup.-
P.T )
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‘(@ Find out whether the series :

: x 22 A2 38 43
1+ — + + .
31 2! 3!

is convergent or divergent for x € R" ?

b) By using Cauchy Residue theorem, evaluate the

integral :

P.TVO.
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(@ Determine the bilinear transformation that maps
the points. z = 0, —, 2 into the points w = 5i,

o, —il/3 respectively. What is the image of

|zl < 1 under this transformation ?

(b) CIf f : [a, 6] > R 1s continl_lous on [a, b], then show

that function is Riemann-integrable on [a, b].
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=) 3fg 7 [a; b] > R T&H Taa we 3T [a, bl
T T o= fag wifse &F A0 T Em ausfem
wed AT [a, b] W T
(@  Show that the identity :
[° fieodx = f®) — f@

is not always valid with the help of an example."

(b) Let (X, d) be a metric space. Show that the function

d* defined by :

2 =13 Al

for all =x, ¥y e X is a métric on X.
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By using Newton-Raphson method, find a root of

the equation ;

x s8in. x + cos x = 0.
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Determine the cubic polynomial which takes the

following values :

¥© = 1, y(1) = 0, 3@ = 1, @& = 10..
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x sin x + cos x = 0O
%1 TH HA A HISI |
frefafea w & o sgag F[ SN
¥O0) = 1, y(1) = 0, y2) = 1 3R ¥@3) = 10
Draw a flowchart to find the roots of a quadratic
equation ax? + bx + ¢ = O.
Find a complete integral of partial differential
equati'on o+ q) (px + qy) = L.

BT.0).
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